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What is the slope of the line passing through the points (1, 2) and (3, 6)?

O
O2v
O3
O 4

To find the slope of a line passing through two points, use the formula (y2 - y1) / (x2 - x1). For the points
(1, 2) and (3, 6), the slope is 2.

Which points are 5 units apart? (Select all that apply)

(J(0,0)and (3,4) v
0,1 and(4,5) v
(J (2, 2) and (6, 6)
(J(8,3)and (6, 7)

To determine which points are 5 units apart, calculate the distance between each pair of points using the
distance formula. Select all pairs that yield a distance of exactly 5 units.

Which of the following are true about the Cartesian plane? (Select all that apply)

(3 It has four quadrants v’
(] The origin is at (0, 0) v’
() The x-axis is vertical
(] The y-axis is horizontal
The Cartesian plane is a two-dimensional coordinate system defined by a horizontal x-axis and a vertical

y-axis, where points are represented by ordered pairs (X, y). It is used in mathematics to graph equations
and visualize relationships between variables.
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Describe a real-world scenario where you might need to use the distance formula in coordinate
geometry.

/

Calculating the distance between two GPS coordinates to determine the shortest path between
two locations.

Which of the following lines have a slope of 1? (Select all that apply)

OJy=x+2v
(Jy=2x+1
Oy=x-3v
(Jy=-x+1

Aline has a slope of 1 if it rises one unit vertically for every one unit it moves horizontally. Therefore, any
line represented by the equation y = x + b, where b is a constant, will have a slope of 1.

Which equations represent lines with a slope of 2? (Select all that apply)

OJy=2x+3v
(Jy=-2x+5
Oy-1=2(xx-3) v
O2x-y=0v

To determine which equations represent lines with a slope of 2, look for equations in the slope-intercept
form (y = mx + b) where m equals 2. Any equation that can be rearranged to this form with a slope of 2
qualifies.

Explain how the four quadrants of the Cartesian plane are labeled and what distinguishes each
quadrant.
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Quadrant I: (+, +), Quadrant II: (-, +), Quadrant lll: (-, -), Quadrant IV: (+, -). Each quadrant is
distinguished by the signs of the x and y coordinates.

How would you convert the standard form of a line equation Ax + By = C to the slope-intercept form
y=mx+Db?

| Solve for y by isolating it on one side: y = -A/Bx + C/B.

How can the midpoint formula be used to find the center of a rectangle given its opposite corners?

/

To find the center of a rectangle given its opposite corners (x1, y1) and (x2, y2), use the midpoint
formula: Center = ((x1 + x2)/2, (y1 + y2)/2).

Discuss the differences between a parabola, an ellipse, and a hyperbola in terms of their equations
and graphs.
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The equation of a parabola is typically in the form y = ax*2 + bx + ¢, resulting in a U-shaped
graph. An ellipse is represented by the equation (x-h)%/a2 + (y-k)¥b2? = 1, producing a closed oval
shape, while a hyperbola is defined by (x-h)%az - (y-k)?b? = 1, resulting in two separate curves that
open away from each other.

Which of the following is a conic section?

O Triangle

O Square

QO Parabola v
O Pentagon

Conic sections are the curves obtained by intersectING a cone with a plane. The main types of conic
sections include circles, ellipses, parabolas, and hyperbolas.

If two lines are parallel, what can be said about their slopes?

O They are equal v

(O They are negative reciprocals
O They are zero

(O They are undefined

When two lines are parallel, they have the same slope, meaning they rise and run at the same rate and
will never intersect.

What is the midpoint of the line segment joining (2, 3) and (4, 7)?

O@B5 v
SN
O (2 5)
O 4,5)
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The midpoint of a line segment can be calculated by averaging the x-coordinates and the y-coordinates
of the endpoints. For the points (2, 3) and (4, 7), the midpoint is (3, 5).

What is the point of intersection of the x-axis and y-axis called?

O Vertex
QO Origin v
O Midpoint
(O Center

The point of intersection of the x-axis and y-axis is called the origin. It is the point where the coordinates
are (0, 0).

What is the radius of a circle with the equation (x - 3)A2 + (y + 4)*2 = 25?

O3
O 4
Os5v
O6

The radius of a circle can be determined from its equation in standard form. In this case, the equation (x -
3)"2 + (y + 4)"2 = 25 indicates that the radius is the square root of 25, which is 5.

Which of the following is the slope-intercept form of a line?

O Ax+By=C
Qy=mx+bv
Ovy-yl =m(x-x1)
O xA2 4+ yN2 =2
The slope-intercept form of a line is expressed as y = mx + b, where m represents the slope and b

represents the y-intercept. This format allows for easy identification of the line's slope and where it
crosses the y-axis.

What is the distance between the points (3, 4) and (7, 1)?

Os5v
O6
o7
OF:
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To find the distance between two points in a Cartesian plane, we use the distance formula, which is
derived from the Pythagorean theorem. The distance between the points (3, 4) and (7, 1) is 5 units.

Explain the significance of the slope of a line in real-world applications, such as in road construction
or architecture.

VZ

The slope of a line is significant in road construction and architecture as it indicates the
steepness of roads and the angles of structures, which are essential for ensuring safety, proper
drainage, and structural integrity.

Which of the following pairs of lines are perpendicular? (Select all that apply)

(Jy=2x+1andy=-1/2x+3 v
(Jy=3x+4andy=-1/3x-2 v
(Jy=x+5andy=-x+1
(Jy=4x-1andy=1/4x+2

To determine if lines are perpendicular, we check if the product of their slopes equals -1. Pairs of lines
with slopes that meet this condition are considered perpendicular.

Which of the following are equations of circles? (Select all that apply)

Ox-1)r2+(y+2)r2=9v
OxA2+yr2=16 v
(] xA2 - yr2 = 25
OJx+3)2+(y-4HM2=0
Equations of circles typically take the form (x - h)2 + (y - k)2 = r3, where (h, k) is the center and r is the

radius. To determine which options are equations of circles, look for this standard form in the provided
choices.
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